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using
using
using
using
using
using
using
using

Microsoft.VisualStudio.TestTools.UnitTesting;
A7;

System;

System.Collections.Generic;

System.Ling;

System.Text;

System.Threading.Tasks;

TestCommon;

namespace A7.Tests

{

[DeploymentItem("TestData", "A7_TestData")]
[TestClass()]
public class GradedTests

{

[TestMethod (), Timeout (1000)]
public void SolveTest_Q1()
{
Assert.Inconclusive("Not Solved");
RunTest (new Q1FindAl10ccur("TD1"));
}

[TestMethod (), Timeout (1000)]
public void SolveTest_Q2()
{
Assert.Inconclusive("Not Solved");
RunTest (new Q2CunstructSuffixArray("TD2"));
}

[TestMethod (), Timeout(1000)]
public void SolveTest_Q3()

{
Assert.Inconclusive("Not Solved");
RunTest (new Q3PatternMatchingSuffixArray("TD2"));
}
public static void RunTest(Processor p)
{
TestTools.RunLocalTest ("A7", p.Process, p.TestDataName, p.Verifier, VerifyResultWithc
excludedTestCases: p.ExcludedTestCases);
}
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using System;

using System.Collections.Generic;
using System.Ling;

using System.Text;

using System.Threading.Tasks;
using TestCommon;

namespace A7

{

public class Q1FindAllOccur : Processor

{
public Q1FindAll0ccur(string testDataName) : base(testDataName)
{
this.VerifyResultWithoutOrder = true;
}

Find All Occurrences of a Pattern in a String’
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public override string Process(string inStr) =>

TestTools.Process(inStr, (Func<String, String, long[]>)Solve, "\n");

protected virtual long[] Solve(string text, string pattern)

{

// write your code here
throw new NotImplementedException();
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Sorted suffixes:
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1 AC$
2 C$

0 GAC$
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using System;

using System.Collections.Generic;
using System.Ling;

using System.Text;
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using System.Threading.Tasks;
using TestCommon;

namespace A7

{

public class Q2CunstructSuffixArray : Processor

{
public Q2CunstructSuffixArray(string testDataName) : base(testDataName)

{
}

public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<String, long[]>)Solve);

protected virtual longl[] Solve(string text)
{

// write your code here
throw new NotImplementedException();
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using System;

using System.Collections.Generic;
using System.Ling;

using System.Text;

using System.Threading.Tasks;
using TestCommon;

namespace A7

{
public class Q3PatternMatchingSuffixArray : Processor
{
public Q3PatternMatchingSuffixArray(string testDataName) : base(testDataName)
{
this.VerifyResultWithoutOrder = true;
}
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<String, long, string[], long[]l>)Solve, "\n");
protected virtual long[] Solve(string text, long n, string[] patterns)
{
// write your code here
throw new NotImplementedException();
}
}
}
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